LO: To calculate the ratio (bronze)

la. Use the image below to complede the
rafio stakements.
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i thvere are 8 cranges, how many pears
will there be?

Tir

pears.

Tb. Katie is giving her party guests party
heats usimg this rafio:
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There are 30 party hals altocgether.
Eighteen children comese fo the party, —
of them choose a siripy hat 2

Howw many chikdren get a stripy hat?
Hovww many children get a spofty hot?
Howw many spare shhipy and spotty hats
are fherae?
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Z2a. There are 40 pencils and pens ina
box. For every 1 pencil, there are 3 pens.
Use the bar model to help you calcwlate:

Howe meany peemncils %
o 2
Howw meaany pens — 1
atbhegether?
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3a. What is the ratic of white snpes fo
black siripes?
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Use the ratio fo calculale how many
sinpes there will e altogether § fhere are
& whike shhipes.

[ & | while sripes

2b. Marrtin is sorfing out his pencil case. He
wants fo have 2 pencils for every 1 pen.

H sorfed it oul correc
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Expldain your answer.
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3b. For every 4 footbdalls, there are 8
football boots. There are 146 football boots
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Howw muany foofballs are fhere?

If a pair of foofball books goes Missing,
what is thve new ratio of footballs to boots?

| | block shhipes
=iri altogetier
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The ratic of red to yellow counters is 2:3 L..:‘ g \_.; J .._.J Esther is building o tower of cubes.
There are 20 courtars in total, uf__‘___,l u,. o/ u; The rotic of red to yellow ubes is 3:1
Hotw many countters of each colour are there? u" .,r ot ~.J .,.J' The tower has & yellow cubes. How many red cubes are there?

-..Jl\q.# (L '\1.‘

You can colour the counters to help you.

yellow red




LO: To calculate the ratio (silver)

Aa. Use the imaoge below to complete the
roafio staterments.
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Ak Wil is prowiding drinkes for o school
iz

For every 4 bollies of pop. e bakes 1
boifle of water_

There are 45 peaople going to fhe ciscn-,L
of e want waler. 3

Howw many bottkes does Will foke
altogether?

Hows mamy boltkes of waler does e take?
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S There are 38 pieces of fruit on a plabe.
For every 4 sirawhbhemies, there are 3
raspbermies. se the bar maoded o help
wiou colocwhobe:

Hows meany strowhermes —}
alfogeither?™ |
Hows meony raspib-erries —

IE h‘ | .!l}j"'a_'

Use the rafio fo calcuwbale how many
animeals fhere will be altogefher if there
are 20 horses.
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LSb. Caleb is sorting jom flavours. He wanis
to amange fhe flaovouwrs wsing fhe ratio 2
rmarmalade fo every 3 shhowherry jome

Hare= the flaovours been amanged
comeciy?®

Explain your answes.
LT

&b For every 2 cats in fhe kennel. there
are & dogs. There are 24 dogs alflcgetiver.

e third of the dogs are owt on Hheekr
wralbe.

What is thee new ratic of cafs to dogs?

Wihat is the new fotal mumiber of amimeals?

Nijah ploys 21 gomes of chess,
For every 2 gomes she wins, she loses & games,

Haw many more gomes does she lose than win?

A group of students study French or German in the rotio 3.7
a) Which subject hos the most students?

b) Drow a diogram to represent this.

¢} There are 80 students in total,

How miany more students study German than French?




LO: To calculate the ratio (gold)

a) Huon is making a drink by mixing 1 part juice with &
parts witer.

Complete the table to show the amounts he would need to use.

Juice Water
1 litre E litres
2 litres
4 litres
100 ml
200 ml
300 ml
30 litres
750 ml

b) Huon mokes 1 litre 500 ml of drink in total.

Howw much juice ond water does he need to use?

Calculate the value of the ratios

4.

2.

A group of students study French or German in the rotio 3:7
a) Which subject has the most studerts?

b) Drow o diagrom to represent this.

€} There are 80 students in total.

How rmony more students study Germaon than French?

3.

Describe o situotion for each bar model.

o aren [

rzf

blue |:|:|:|







